0060600606066 00660666 066

Numerical Manipulation |

Communicative laws for addition and subtraction

Pairing numbers techniques
Splitting numbers Techniques

Numerical Manipulation Il

Distribution laws for Multiplication and Division

Factorisation laws
Splitting numbers techniques

Sequence |
Numbers sequence
Pictures sequence

Sequence Il
Advance sequences

Basic Number Theory
Prime numbers

Prime factorisation
Highest Common Factor
Lowest Common Multiple

Counting - Find the Way Out
Counting possible paths

Counting
Counting objects
Counting groups

18

32

50

61

75

94




Geometry |
Angle properties of Polygons
Angle properties on straight lines

Geometry Il
Properties of triangles and quadrilaterals
Pythagoras’ Theorem

Review |
Review Il

Suggested Solutions




|
“~ Keynotes
| 0 y

l_o 1. Addition and Subtraction are commutative.
Example: 100-200 + 300

:-O =100 + 300 — 200
= 200.
-0

'-O 2. Pair the numbers
| Example : 102 + 104 + 106 + 108
=0 =2 x (102 +108) = 2 x 210 = 420

| 3. Split the numbers
Example: 102 + 104 + 106 + 108
‘_o =100+2+100+4+100+6+100+8

l =420.

) Numerical Manipulation |
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?(\ Example 7:
’C\ Which of the following is correct?

11 13
13 15
457 449
912 899
16 20
() —>—
337 31

11 13
(a) ==<== CORRECT
13 15

(a)

060600060606 6060666 6606

(b)

11
Difference between numerator and denominator of — =2

13
Difference between numerator and denominator of — =2

Therefore, E < E
13

15
457 449

(b) —-<—= WRONG
912 899

457 1 449 1 457 449
——>— where — < —. Therefore, —>—— .
912 2 899 2 912 899

16 20
(c) =>== WRONG
33731
16 80 80 20
P Dy P

33 33 31 31

16 20
—<—
33

16 20
Since 5 groups of 3 is less than 4 groups of 31 then
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1. Given the sequence
0,1,3,6, , 15, ...

(a) Fill in the missing number.

(b) Find the number in the 21st term.

2. Given the sequence
0,6,24,  ,120, ,336, ...
Fill in the missing numbers.

Sequence |




EXAMPLES

Example 1:
How many ways can the cat take to walk to the fish? (The cat can only walk straight to the right

or downward.)
sy

2@.(

1. From the start point to the next possible junction, count the number of way to
reach this junction.

Start point

I

0600600606006 606606 0660666

2. From the junction proceed to the next possible junction and count the number of
way to reach this junction.

|

Start point L1 Start point 1

‘ 1 2 1 2 3

1 ! 3 % Destinatin  Number of ways = 6.
| 76
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